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I 17 mwn: List of the onn and ormn
a 5 onn: ox is not considered v to Wgore, @push, Gbite, Djump or Ckick
b 5 orn: Mox will eat what is fit for it, @trample as it walks, ® 191 7, @an ox that damages pran mwia and Gpeople
i observation: liability for jv = prin 9¥n; presentation of on->follows 1327 (contra v™) who extend %2 pta to pran mwa
1 contradiction: 4™ item on list of DY is pran mwa >follows V"1 who finds pran mwIa 1P always VN
2 answerl (58pw): mwn follows mixed authorship
3 Answer2 (27): mwn follows v case is a jointly owned area
(a) where both p1n and pra have rights to let their animals walk
(b) only the pri has rights for ma
(i) ->inre: v, considered pran Ixn
(ii) ->in re: 1p, considered 7"
(c) Challenge (‘72ar “7): authorship can’t be v — since it lists (1v1n #1) “eating what is fit” — to v™, liable for all
(i) Explanation: no nn in prin mw
4 Rather (answer3- 121 "1): mwn follows 1117 and is deficient:
(a) List: of 5 onn then — if they establish a pattern — become 1 (%37 v aren’t on that list)
(i) Additionally: %»11 v are always P™»n — but only prin axna
1. Challenge (82227): n:a mwn “picks up” on prin mMwIa Pmn MY >must have been mentioned here
5  Rather (answer 3a — R117): 5 DN which can become Ty (that’s 110 MW”); Pran mMwIa P mn MY subject to 1327/0™
(a) Additionally: there are other animals that are always Ty (wolf etc.) (supporting xn»21)
(b) Alternate: R3121 resolved contradiction within mwn — there are more than 5 T (answer as above)
ii  71YYR "7’s analysis of bn #4 (jumping) (3 versions)
1 Version #1: only applies to large vessels; but it is 7y to jump on small vessels
(a) Possible support: kn»11 ruling that an animal is 7v1n to jump on vessels (must be small ones, mwn — large)
(b) Rejection: perhaps xn»a refers to trampling them “1xn 1n” (from the side) but not trampling
2 Version#2: applies also to large vessels
(a) Challenge: Xn2 (as above) Defense: Xn»a refers to damage T80 1n
3 Version #3: contradiction presented between &n»»1/mwn
(a) Resolution(x”): on for large vessels; Ty for small ones
¢ 57 animals: wolf, lion, bear, tiger and cheetah (n™ adds »1ax — striped hyena; 8" adds the snake)
i dissent: ®™ says if they are domesticated, not 791, but the snake is always 11
1 Challenge (to 8”7's addition of the snake in X117773): > only snake is Tv0; (answer — read “alse the snake”)
ii ~ Snww if alion rips meat from a living animal 1”712 — exempt (akin to 1v); if he kills first, 2'n Y2 damages (akin to 17p)
1 Challenge: v. 1 implies that N0 is its normal way (each phrase in the verse explained ->not its usual manner)
2 Challenge: Rn2 ruling that if an animal went into pran qxn, killed and ate - pays full (i.e. considered )
(a) Answer: itkilled and left there — and later ate (challenge — how to know? and 5®nw’s case may be same)
(i) Answerl: read separately: if it killed and left the food or nv 7 — full pn;
(if) Answer2: HYR1mVY’s ruling is in re: domesticated lion as per X™; but was attested (= nbw pn)
1. Question: should be taught along with m191n of 19p but was taught as 079 of v - Rwp
I 27 mwn: Distinction between Tn/on
a on-pays %2 damages from the proceeds of its body
b 7 - pays full damages from "n»5y” (homiletic explanations of vv. 2-13, including definition of n»5%y = avn)

www.dafyomivicc.org 13 © Yitzchak Etshalom 2016




